**xx%*  BIORHYTHM For : DECEMBER 1980
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For RICHARD KELLEY >> Astrological Sign = LIBRA Date of Bi

DAY NEGATIVE CRITICAL POSITIVE LUCK R

=== -8-7-6-5-4-3-2-1 0 +1+2+3+4+5+6+7+8 -——— -
1 EP I 5.4
2 E P I 5.5
3 E P I 6.2
4 E P I 6.9
5 E P I 6.8
6 C E P I 6.7
7 E P I 6.6
8 E P I 6.5
9 C E * 4.1
10 EI P 6.0
11 I E P 5.9
12 C I E P 2.9
13 I * 6.1
14 I P E 6.1
15 I P E 6.0

16 I P E 5.9 1
17 C I P E 5.2
18 I P E 4.6
19 I P E 3.9
20 I P E 3.2
21 I P E 2.9
22 I P E 3.0
23 C * E 1.1
24 * E 3.5
25 * E MERRY CHRISTMAS 3.6
26 3 3.7
27 E * 3.8
28 E * 3.9
29 CcC E * 0.6
30 E * 3.7
31 E * 4.3

RR I i i i S S dh db b b b b S S dh db b b b b b S 2 2R SR Sb Ib b b b b g S S 2h S db Ib b b b i 2 2h dh dh g 4

P = Physical Cycle (23 Days)

E = Emotional Cycle (28 Days)

I = Intellectual Cycle (33 Days)

* = Two cycles at same point

3 = Three cycles at same point

C = One cycle CRITICAL on this date

CC = Two cycles CRITICAL on this date
CCC= Three cycles CRITICAL on this date
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